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PHYSICS

An example of non—contact force is

(a) Push a stationary box

(b) Hit a cricket ball for 4 runs

(c) Force exerted by a man to lift a bucket

(d) Force exerted by magnet

The pressure at any given point of a non—moving fluid is called

(a) Gauge pressure (b) Differential pressure
(c) Atmospheric pressure (d) Hydrostatic pressure
When does a body float on water

(a) When there is a gravitational pull

(b) When no force is acting on it

(c) When the net force acting on the body is zero

(d) None of the above

Which of the following represent correct values for the normal atmospheric pressure
(a) 76 mm of mercury and 101.3 pascals

(b) 101.3 Kilopascals and 76 mm of mercury

(c) 76 mm of mercury and 76 CM of mercury

(d) None of the above

Calculate the pressure exerted by a force of 20 N on a surface area of 0.01 m’.
(a) 20 Pa (b) 0.2 Pa

(c) 2000 Pa (d) 200 Pa

A force is applied on an object in the direction of it’s motion. What is the effect of force on the
object

(a) The speed of the object will decrease

(b) The speed of the object will increase

(c) The object will remain in rest

(d) Direction of motion of object will change

Two objects repel each other. This repulsion could be due to

(a) gravitational force only (b) electrostatic force only

(c) magnetic force only (d) either a magnetic or an electrostatic force
If a train changes speed from 200 km/h to 300 km/h, then drag force will

(a) decrease (b) increase

(c) remain same (d) first increase then decrease
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10.

11.

12.

The forces applied by all the players are given below.

-

What is the value of F if the forces are balanced ?

(a) SN (b) 10N

(c) ON (d IN

A boy weighing 60 kgf stands on a platform of dimensions 2.5 cm x 0.5 cm. What pressure in pascal
does he exert ? Take g = 10 m/s’.

(a) 48x10° (b) 36x 10
(c) 4.8x10° d) 12x10°

A spanner of length 10 cm is used to open a nut by applying a minimum force of 5.0 N. Calculate the
moment of force required.

Axis of rotation

S Pivot

(a) 0.5 N-m (b) 5N-m
(¢) 50 N-m (d) 10 N-m

A horizontal force of 20 N is applied on a box placed on a flat surface and it just starts to move.
What will be the value of sliding friction ?

]
- >

/4 d___
“ 20N

{ y
(a) >20N (b) <20N
(c) =20N (d =0N
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13.

14.

15.

16.

17.

18.

19.

Which of the following statements are true ?
(1) An object will continue moving uniformly until the resultant force on it is zero.

(11) The bodies do not change their state of rest or motion unless acted upon by an unbalanced
external force.

(111) If a body is at rest on the surface on the Earth, then the net downward force exerted by the Earth
and net upward force exerted on the body are not equal to each other.

(a) Only (i) and (ii) (b) Only (ii) and (iii)

(c) Only (i) and (iii) (d) All (i), (ii) and (iii)

The diagram shows an object hanging from a string. Which of the following is the correct statement
about the diagram ?

L |

<«— String

@Object

(a) The object does not fall because there is no gravity

(b) The object does not fall because there is friction between the object and the string.
(c) the object does not fall because a magnetic force is acting on it.
(d) The object does not fall because the string is exerting a force against the earth’s gravity.

Calculate the pressure developed by a force of 50 N acting on an area of 10 nr’.

(a) 10 Pa (b) 5Pa (c) 15Pa (d) 20 Pa
CHEMISTRY

Which of the following acids is formed when sulphur dioxide is dissolved in water ?

(a) Sulphuric acid (b) Sulphurous acid

(c) Thiosulphurous acid (d) None of the above

How is cotton comparable to artificial silk ?

(a) They are cellulose polymer (b) They melt on heating

(c) Both (a) and (b) (d) None of the above

Polycot is synthesised by combining and

(a) Polymer and cotton (b) Polyester and cotton

(c) Polygon and cotton (d) None of the above

Rayon shows properties similar to

(a) Jute (b) Cotton

(c) Silk (d) None of the above
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20. Which of the following is obtained from petroleum ?
(a) Polyester (b) Jute
(c) Nylon (d) None of the above
21. PETisa .
(a) Polyamide (b) Polyester
(c) Both (a) and (b) (d) None of the above
22. What kind of sound does hydrogen gas make when a lit candle is placed close to the mouth of the
test tube where it is evolved?
(a) Tinkling (b) Pop
(c) Bell tone (d) Sizzle
23. Which of the following is a non—metal that can be stored in the water ?
(a) Sodium (b) Potassium
(c) Phosphorous (d) Calcium
24. Which of the following causes blue litmus paper to turn red ?
(a) Lubricating grease (b) Baking Soda
(c) Vinegar (d) Soap
25. Which gas results from the reaction of metals and sodium hydroxide ?
(a) Oxygen gas (b) Hydrogen gas
(c) Carbon dioxide gas (d) All of the above
26. Which of the following can displace copper from copper sulphate ?
(a) Silver (b) Zinc
(c) Platinum (d) Gold
27. Which of the following, when hammered, can become a powdery mass ?
(a) Aluminium (b) Carbon
(c) Magnesium (d) Iron
28. Some materials have properties such as hardness, lustrousness, malleability, ductility, sonority, and

29.

30.

good conductivity of heat and electricity. Identify the material.
(a) Non—metals (b) Metals
(c) Semiconductors (d) Insulators

Which of the following is not a non—metal ?

(a) O (b) CI

(c) Be (d) Graphite

What is the correct formula for the product formed when magnesium reacts with oxygen ?
(a) Mg,O (b) MgO

(c) MgO; (d) Mg0,
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31. 1s not associative for rational numbers.
(a) Subtraction or Division (b) Addition or Multiplication
(c) Addition or Division (d) Multiplication or Division
32. Which number is in the middle if %1, g, %, % and =3 arranged in descending order ?
2 4
a) — b) —
(a) s (b) 5
-1 -6
c) — d) —
(c) 5 (d) 2
33. A reduction of 20% in the price of rice enables a person to buy 3.5 kg more rice for Rs. 385.
The original price of rice per kg is :
(a) Rs.20 (b) Rs.22.50
(c) Rs.25 (d) Rs.27.50
34. LCM of El and 6 is
12 17
11 1
a) — b) —
@) 29 ®) 30
30 1
c) — d —
© 1 @ 204
35. ! + ! = then x is
x+2 x+3 x+49
33 33
a) —— b) —
(a) T (b) T
13 13
c) —— d —
(c) 3 (d) 3
36. In the given figure, ABCD is a rectangle whose diagonals AC and BD intersect at O.

37. A man completes a journey in 10 hours. He travels first half of the journey at the rate of 21 km/hr

If ZAOB =32° then find ZOCD.

A D
0
320
B C
(a) 70° (b) 72°
(c) 74° (d) 80°

and second half at the rate of 24 km/hr. Find the total journey in km.
(a) 220 km (b) 224 km
(c) 228 km (d) 240 km
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38. The ratio of two adjacent sides of a parallelogram is 4 : 5. If its perimeter is 72 cm, find its adjacent
sides.
(a) 18 cmand 25 cm (b) 16 cmand 25 cm
(c) 18 cmand 20 cm (d) 16 cmand 20 cm
39. What is the sum of the additive inverse and multiplicative inverse of 2 ?
3 -3
a) — b) —
(a) 5 (b) 5
1 -1
c) — d —
(c) 5 (d) 5
40. The pie—chart is divided into
(a) circles (b) squares
(c) sectors (d) segments

41.

42.

43.

44.

45.

There are 2 Red, 3 Blue and 5 Black balls in a bag. A ball is drawn from the bag without looking into
the bag. What is the probability of getting a blue ball ?

3 2
(a) 3 (b) 3
3
(©) 10 (d) None of these

ABCD is a parallelogram. The angle bisectors of ZA and £ZD meet at O. What is the measure of
ZAOD ?

(a) 45° (b) 90°

(c) 75° (d) 180°

In the quadrilateral ABCD, the diagonals AC and BD are equal and perpendicular to each other.
What type of a quadrilateral is ABCD ?

(a) A square (b) A parallelogram

(c) A rhombus (d) A trapezium

Aruna cut a cake into two halves and cuts one half into smaller pieces of equal size. Each of the
small pieces is twenty grams in weight. If she has seven pieces of the cake in all with her, how heavy
was the original cake ?

(a) 120 gm (b) 180 gm

(c) 300 gm (d) 240 gm

The sum of two digit number and the number formed by interchanging its digit is 110. If ten is
subtracted from the first number, the new number is 4 more than 5 times of the sum of the digits in
the first number. Find the first number.

(a) 46 (b) 48
(c) 64 (d) 84
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46. Partial sterilization of a product such as milk at a high temperature is known as :
(a) Pasteurization (b) Filtration
(c) Pickling (d) Refrigeration
47. Some plants have nitrogen—fixing bacteria in their root nodules. What are these bacteria called ?
(a) Blue green algae (b) Nitrosomonas
(c) Azotobacter (d) Rhizobium
48. While baking cakes, yeast reproduces rapidly and produces  gas.
(a) Hydrogen (b) Oxygen
(c) Carbon dioxide (d) Nitrogen
49. The process of drying wheat stalks in the sun and then beating them to separate the grains is called :
(a) Winnowing (b) Threshing
(c¢) Churning (d) Sieving
50. Which one of the following is not produced by the process of fermentation ?
(a) Cheese (b) Milk
(¢) Yoghurt (d) Wine
51. In today’s world, where water is a scarce resource, which among the following irrigation methods is
most feasible and sustainable ?
(a) Sprinkler system (b) Drip system
(c) Tube well (d) Chain pump
52. Grain stocked for emergencies is called
(a) Surplus stock (b) Regular stock
(c) Storage (d) Buffer stock
53. For growing a crop, sufficient sunlight and and from the soil are essential.
(a) Water, Manure (b) Water, Nutrients
(c) Nutrients, Manure (d) Nutrients, Fertilizers
54. Which of the following diseases can be cured using antibiotics ?
(a) AIDS (b) Dengue
(c) Typhoid (d) Malaria
55. Nowadays seed 1s sown in the field using
(a) Seed Tractor (b) Seed drill
(c) Seed Tiller (d) Seed Plough
56. Which of the following description is true for describing ‘fertilizer’
(a) Used in large quantity (b) Organic in nature
(c) Does not cause pollution (d) Produced in factories

57.

Separation of Grain from chaff is called
(a) Threshing (b) Harvesting
(c) Winnowing (d) Weeding
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58.

59.

60.

61.

62.

63.

64.

65.

‘Silos’ are used to :

(a) grow crops in the fields

(b) protect grains from pests like rats and insects

(c) storage damaged grains

(d) none of these

The loosened soil helps in the growth of :

(a) earthworms (b) microbes

(c) plants (d) all of these

Before sowing the seeds, it is necessary to break soil to the size of grains to get better yield.

The main tools used for such are

(a) Tractor, Hoe, Seed drill (b) Bullock, tiller, tractor

(c) Plough, Hoe, Cultivator (d) Plough, Seed Drill, Tractor
MENTAL ABILITY

The next term in the sequence 1, 3, 6, 11, 20, 37, ?

(a) 65 (b) 67 (c) 70 (d) 60

If a certain code PERINATH is written as QFQHOBSG and POLE as QPKD, how will
SYNDROME be written in that code ?

(a) RXONQNNF (b) TZODQNLD
(c) TZMCSPKD (d) TZMCSPLD

Anshul moves towards East a distance of 5 m, then he turns to his left and walks 20 metres, then
again he turns left and walks 15 meters. Now he turns 45° towards his right and goes straight to

cover 20+/2 m meters. How far is he from his starting point ?

(a) 40 m (b) 30 m

() 50 m (d) 55m

If at 12°0O clock, minute hand and hour hand are facing towards North, then in which direction the
minute hand is facing at 4 : 40 ?

(a) 30° West of South (b) 60° West of South

(c) 30° East of South (d) 60° East of South

In the following question consists of two sets of figures. Figures 1, 2, 3 and 4 constitute the Problem
Set while figures A, B, C and D constitute the Answer Set. There is a definite relationship between
figures 1 and 2. Establish a similar relationship between figures 3 and 4 by choosing a suitable figure

(4) from the Answer Set.
0O &Pl -
1)

(2) 3) @
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69.

Direction : (Q.70 & Q.71) : Read the following information to answer the questions given below:

(1)

(11) The yellow-dressed boy is not standing at any end of the line
(111) The red-dressed boy is not standing at any end of the line.

SAMPLE PAPER CLASS : ViII i,rft%ga
(a) (b) N
N -
-1 @ N2
If2+2=8,3+5=24,2+5=14,3+4=21then5+7is:
(a) 50 (b) 60 (c) 70 (d) 80

Which number should come in place of question mark (?)

AV EN
2|3/ \8|2/\2[3/

(a) 18 (b) 13 (c) 30 (d) —30

How many numbers amongst the numbers 9 to 54 are there which are exactly divisible by 9 but not
by 3?

(a) 8 (b) 6

(©) 5 (d) Nil

The five squares contain shapes arranged in order to form a sequence. One of the square is missing.
Choose which one of the four squares should take the place of the empty square.

4 A
; 0]
|
AN AT
| ©°% w| Of%
N~
(©) O___‘.‘ (d) none of these

Five boys are standing in a line facing the wall wearing red, green, yellow, white and blue dress.
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70. The boy in the middle wears which coloured-dress?
(a) Green
(c) Either Green or Blue
71. Who is to the right of yellow-dressed boy?
(a) Blue
(c) Green

72. Two friends A and B start a race, and together they run for 50 mts. Then A turns right and runs 28
mts while B turns left and runs 20 mts. Then A turns right and runs 10 mts. B also turns right and

(b) Blue
(d) Cannot be determined

(b) White
(d) Data inadequate

runs 10 mts. How far are the two friends now from each other ?

(1) 50 mts
(c) 60 mts

(b) 52 mts
(d) 49 mts

73. Answer the most suitable logical diagram from the given options.

Mother, Female, Widow.

74. Which shape or pattern completes the larger square ?

(d)

o

D

<

A
(a) (b)
(c) (d)
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75.

76.

77.

78.

79.

B is the husband of P. Q is the only grandson of E, who is wife of D and mother-in-law of P. How is
B related to D?

(a) Nephew (b) Cousin
(c) Sonin law (d) Son

Study the following character sequence :
P9sQT6Sb5DNgzadF#GU2M*Y

If the last ten characters are written in reverse order, what will be the 7th character to the right of 17"
character from the right ?

(a D (b) a
() U d Y

TR0 00 OF
05 &S &8

(a) 47 (b) 45 (c) 37 (d) 35

1,2, 3,4, 5 and 6 dots are marked on the net of a die as shown. Which of these is the correct picture
of this die ?

(c) ‘ﬂ (d) "’

Shefali ranks 13th from the top and Seema 8th from the bottom. If the positions of Shefali and
Seema are interchanged, Seema becomes 17th from the bottom then what will be position of Shefali
from the top :

(a) 20th (b) 21st
(c) 19th (d) None of these
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80. Which shape or pattern on the right completes the second pair in the same way as the first pair ?

Lo a2 ?

Y

SCO 19, Second Floor, Sector 20-D, Chandigarh | Mob. : 9780887400, 9779778234




¢4

SAMPLE PAPER CLASS : VI i,rogga
ANSWER KEY
PHYSICS
1. (d 4. (b) 7. (d) 10. (a) 13. (a)
2. (d) 5. (c) 8. (b) 11. (a) 14. (d)
3. (0 6. (b) 9. (a) 12. (b) 15. (b)
CHEMISTRY
16. (b) 19. (¢ 22. (b) 25. (b) 28. (b)
17. (a) 20. (a) 23. (c) 26. (b) 29. (c)
18. (b) 21. (b) 24. (c) 27. (b) 30. (b)
MATHEMATICS
31. (a) 34. (c) 37. (b) 40. (c) 43. (a)
32. (¢ 35. (a) 38. (d) 41. (¢ 44. (d)
33. (d) 36. (c) 39. (b) 42. (b) 45. (c)
BIOLOGY
46. (a) 49. (b) 52. (d) 55. (b) 58. (b)
47. (d) 50. (b) 53. (b) 56. (d) 59. (d)
48. (c) 51. (b) 54. (c) 57. (c) 60. (c)
MENTAL ABILITY
61. (c) 65. (a) 69. (a) 73. (d) 77. (c)
62. (d) 66. (b) 70. (c) 74. (d) 78. (d)
63. (c) 67. (c) 71. (d) 75. (d) 79. (d)
64. (b) 68. (d) 72. (b) 76. (d) 80. (d)
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